
 Quiz 50   

SBU 2020 Lesson 50 (quiz)   

 

 
1) You open 1NT with these hands. Partner invites game with a raise to 2NT. 

 What is your response? 

  Q95  K1098  K3  Q109 

  A943  QJ102  A65  QJ2 

  K72  A4  A8743  98 

  KJ5  QJ9  Q53  AKJ107 

 
 __________ __________ __________ __________ 

 

 

 

 

 

 
2) How should these pairs of hands be bid? West is dealer. 

 
 West East West East 

  A95  KJ2  AQ96  J107 

  A1092  KQ63  Q96  AK42 

  97  KQJ8  AJ87  KQ6 

  KQ84  A6  J3  AQ7 

 

 __________ __________ __________ __________ 

 __________ __________ __________ __________ 

 __________ __________ __________ __________ 

 __________ __________ __________ __________ 

 

 

 

 
 

3) What is the meaning of the final 4NT bid in these auctions?  Is it quantitative or Blackwood? 

 
 West East West East West East West East 

 2NT 4NT 1 2 1 2 1NT 2 

   2NT 4NT 2NT 3 2 3 

     4 4NT 4 4NT 

 

 _______________ _______________ _______________ ______________ 

 

 


